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6. These instructions must be complied with fully, failing which your
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OMR Answer Sheet at the perforation and separate the Original
Copy and Candidate’s Copy of the Two Part OMR Answer Sheet in
the presence of the Invigilator and handover the Original Copy to
the Invigilator. The Candidate’s Copy of the OMR Answer sheet
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PAPER-II
Part-A

GENERAL ENGLISH : 100 Marks

Instructions : Each question under this section carries two marks. Please read the instructions carefully and

answer the questions by selecting the most appropriate answer out of the multiple answers given below each as
A, B, Cand D. ; :

There shall be negative marking @ 0.5 mark per question for wrong/multiple answers.

Instructions for questions from No. 1 to 5 : Read the sentences and transform them from Direct

speech to Indirect speech.

1.

Rama said to me, “You will be rewarded”.
(A) Rama told me that you will be rewarded.
(B) Rama told me that I would be rewarded.
(C) Rama told me that I will be rewarded.
(D) Rama told me that he will be rewarded.

He said to me, “Are you well ?”

~ (A) He asked me if you were well.

(B) He asked me if he was well.
(C) He asked me if I was not well ?

(D) He asked me if I was well.

My friend said to me, “Let us go there tomorrow.”

(A) My friend proposed that we should go there the next day.

(B) My friend told me to go there tomorrow.
(C) My friend ordered me to go there the next day.
(D) My friend asked me to go there the next day.

He said, “How beautiful the rose is!”

(A) He said that how beautiful the rose was!

(B) He exclaimed that the rose was very beautiful.
(C) He exclaimed that how beautiful the rose was.
(D) He told that how beautiful the rose was!

The teacher said, “Honesty is the best policy.”
(A) The teacher said that honesty was the best policy.
(B) The teacher said that honesty is the best policy.

(C) The teacher said that honesty should be the best policy.
(D) The teacher said that honesty would be the best policy.
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Instructions for questions from No. 6 to 10 : Go through the sentences and find out which one s

-

grammatically correct.

6. (A) One should keep his promises.
(B) One should keep our promises.
{C) One should keep their promises.
(D) One should keep one’s promises.

7. (A) No sooner had I left home than it began to rain.
(B) No sooner I left home than it began to rain.
(C) No sooner had I left home it began to rain.
(D) No sooner I had left home than it began to rain.

8. (A) My father helped me to clean the room.
(B) My father helped me cleaning the room.
(C) My father helped me clean the room.
(D) My father helped me cleaned the room.

S (Lt Tie asked me why have you come here?
(B) He asked me why you have come here.
(C) He asked me why you had come here?
(D) He asked me why I had come here. -
10. (A) Ienjoy to play the piano. (B) Ienjoy playing the piano.
(C) Ienjoy play the piano. (D) Ienjoy played the piano.
Instructions for questions from No. 11 to 13 : Read the sentences and choose the correct parts of

speech of the underlined words.

11. The function came to a close at half past ten.

(A) verb, adjective (B) noun, verb

(C) noun, preposition (D) verb, preposition
12. He is the first man to sit on a fast.

(A) adjective, noun (B) pronoun, noun (C) adjective, verb (D) adjective, adverb
13. Jack and Jill went up the hill and looked up. |

(A) adjective, adverb (B) preposition, adverb

(C) adverb, preposition (D) verb, preposition

Instructions for questions from No. 14 to 16 : Read the sentences and substitute the underlined
words with appropriate phrasal verbs. s

14. As soon as the teacher entered the room, all the lights were extinguished.

(A) gotinto, put out (B) reached at, blown away

(C) arrived at, blown over (D) walked up, turned on
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~15. I couldn’t tolerate such humiliation as the President of the Students’ Union for our proposal

was rejected by the Principal.

(A) puton, turned up (B) put up, turned on
(C) putup with, turned down (D) put off, put down
16. Thieves forcibly entered our house last night and escaped happily looting money and other
valuables.
(A) broke down, got over (B) broke up, got into
(C) broke into, got away with (D) broke off, got down

Instructions for questions from No. 17 to 21 : Read the sentences and fill in the blanks with correct
- forms of verbs.

17. Not only the boy but also his parents responsible for lack of supervision, a result

of which two-thirds of the work __ done in a day.
(A) were, was (B) was, were (C) were, were (D) was, was

18. The old man as well as his sons at fault for this tragic incident for which a crowd
of people gathered on the spot. :
(A) are, have (B) is, has (C) is, have (D) are, has

19. I, who his friend, must look to his interest.
(A) is (B) was (C) are-: (D) am

20. All that glitters not gold. _

: (A) is (B) are (C) were (D) was

21. Slow and steady the race, because haste waste.
(A) win, makes (B) wins, makes (C) won, made (D) winning, makes

Instructions for questions from No. 22 to 30 : Read the sentences and do as directed.

22. Mira is the best girl in the class.
(Change the degree of comparison to comparative form)
(A) Mira is better than most of the girls in the class.
(B) Mira is better than any other girl in the class.
(C) No other girl in the class is as good as Mira.
(D) Mira is better than the best girl in the class.

23. Heis too weak to walk.
(Rewrite the sentence removing ‘too’)
(A) He is so weak that he cannot walk.
(B) He is very weak to walk.
(C) He is weak enough to walk.
- (D) Heis so weak to walk.
P-II-RI-2021/A ; P.T.O.



24.

25:

26.

27.

28.

29.

30.

A barking dog seldom bites.

(Change it into complex sentence) v

(A) A dog that bites seldom barks. (B) A dog that barks seldom bites.
(C) A dog that is barking seldom bites. (D) A biting dog seldom barks.

He does not like fish. He does not like meat.

(Join the above two sentences using neither ------ nor’)
(A) He neither likes fish nor meat. (B) He does not like neither fish nor meat.
(C) He likes neither fish nor meat. (D) He does neither like fish nor meat.

The boy is very industrious.

(Change it into exclamatory sentence) .

(A) What an industrious boy is he! (B) What an industrious boy he is!

(C) What a very industrious boy is he! (D) What a very industrious boy he is!

The police resorted to firing to disperse the violent mob.
(Choose the correct meaning of the underlined words)

(A) strike, pilgrims (B) punish, people (C) dispel, crowd (D) pacify, gathering

the rod and : the child.
(Fill in the blanks with an appropriate pair of verbs in the proverbial expression)
(A) Strike, scold (B) Spare, spoil (C) Show, shake (D) Spring, spurn

His father is a teacher. His mother is a teacher.

(Join the above two sentences using ‘both -------- and’)
(A) His both father and mother are teachers.

(B) Both his father and mother are teachers.

(C) Both his father and mother is a teacher.

(D) His both father and mother is a teacher. -

The word ‘carnivorous’ means
(A) An animal eating meat (B) A man-hunting animal

(C) A person eating human flesh (D) A wild animal

Instructions for questions from No. 31 to 35 : Fill in the blanks with appropriate Articles.

31.

32.

‘earth revolves round : sun.

(A) Thea = (B) An, the (@) Ay @i dene (D) The, the
bird in hand is worth two in bush.

(A) The, the - (B) A, the (C) The, a (B Aza
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“93. Dasaratha,
(A) the, an

34. honest man is

(A) The, a

35. Kalidasa,
(A) a,a

king of Ayodhya, was
(B) the, a

(B) An, the

great Sanskrit poet, is
(B) the, the

__humble king.

&) aa (D) a, an

asset to the society.

(C) An,an (D) The, the

Shakespeare of our country.

(C) the,a (D) a, the

Instructions for questions from No. 36 to 40 : Fill in the blanks with appropriate Prepositions.

36. Although the man was accused murder by the police, he was acquitted the
charges in the court.
(A) in, of (B) of, of (C) from, of (D) of, from
37. They agreed his proposal in the meeting, but I did not agree them.
(A) to, with (B) with, to
(C) into, with (D) upon, to
38. All of the teachers congratulated me my success, but I never boast it.
(A) for, of (B) on, for
(C) on, of (D) for, into
39. The old man was very fond her daughter, who was deprived her property
after father’s death. '
(A) of, of (B) at, of
(€2). of frouh (D) with, from
40. Thewoman was suffering cancer, but the doctor cured her it.
(A) from, of (B) with, from (C) from, with (D) of, from

Instructions for questions from No.

appropriate and correctly spelt words.

41. Anowlisa
(A) nocturnal, extinct
(C) nockurnal, extinct
42,

also much
(A) vaccum, embarasment

(C) vaccuum, embarrasment
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bird, whose species are almost

Death of Sushant Singh Rajput has caused not only a

41 to 45 : Read the sentences and fill in the blanks with

now.
(B) noctoral, extint
(D) noctoral, extinguish

in Indian film industry but

for the investigating police team.

(B) vacuum, embarrassment

(D) vacume, embarrassment
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43.

44.

45.

During winter, a large number of birds, both colourful and e,
from Siberia to Chilika Lake. '

(A) migratory, exotic (B) migretory, excotic

(C) migretery, esoteric (D) migrotery, extinct

The clerk dealing with works of the office is occasionally seen in this

(A) misllaneous, resturant : (B) miscelaneous, restaurant

(C) miscellaneous, restaurant (D) miscellaneous, restaurant

Frequent power failure in the examination centre caused much
invigilators and examinees.

(A) inconvenience, superintendant (B) inconvenience, superintendent

(C) inconvenice, superintandent (D) inconvenience, supraintendent

k)

to the .

Instructions for questions from No. 46 to 50 : Read the sentences and change their voice from Active

to Passive or vice versa.

46.

47.

48.

49.

50.

The teacher made him stand up in the class.

(A) The teacher was made him stand up in the class.

(B) He was made stand up by the teacher in the class.
(C) He was made to stand up by the teacher in the class.

(D) He had been made to stand up by the teacher in the class.

I saw the monkeys climbing the tree.

(A) The monkeys were seen climbing the tree.
(B) The tree was seen the monkeys climbing.

(C) The monkeys were seen to climb the tree.

(D) The monkeys was seen to climb the tree.

The poor should be helped.
(A) You should help the poor.

It was proposed to hold a meeting.

(A) They proposed to hold a meeting.

(B) They proposed it to hold a meeting.
(C) They proposed to be held a meeting.
(D) They had proposed to hold a meeting.

The prizes were given away by the chief guest.
(A) The chief guest was giving away the prizes.
(B) The chief guest gave away the prizes.

(C) The chief guest was given away the prizes.

(D) The prizes were given to the chief guest.

P-II-RI-2021/A
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iy Part-B
COMPUTER TEST : 50 Marks

Instructions : Each question under this section carries two marks. Please read the questions carefully and
answer the questions by selecting the most appropriate answer out of the multiple answers given below each as
A, B, Cand D.
There shall be negative marking @ 0.5 mark per question for wrong/multiple answers.
51. Purpose of Ctrl + B shortcut key in MS — Excel is :
(A) Open Save Dialog Box
(B) Open Print Dialog Box
(C) Open Paragraph Dialog Box
(D) Open Page Format Dialog Box

52. In Microsoft PowerPoint, which of the following tool enables you to add text to a slide
without using the standard placeholders ?

(A) Text tool box _ (B) Line tool
(C) Drawing tool (D) Auto shapes tool
53. displays each slide of the PPT as a thumbnail and is used to re-arrange them :
(A) Slide Show (B) Slide Sorter :
(C) Slide Design (D) Slide Display

54. Column, Bar, Pie, Line, Scatter are types of :
(A) Charts ' (B) Fonts
(C) Shape Tool (D) Drawing Tool

55. Which of the following allow you to select more than one slide in a presentation ?
(A) Alt + Click each slide : (B) Shift + drag each slide
(C) Ctrl + Click each slide (D) Function + Click each slide

56. Shortcut to insert new slide in the current Presentation is :
(A) Ctrl + M : (B) 'Ctrl +O
(C) Ctrl + N ' (D). Ctrl +F

57. Which of the following is the smallest measure of storage ?
(A) KB (B) MB

(C) TB ; (D) Byte
P-II-RI-2021/A ‘ P.T.O.
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58. The main circuit-board of the system unit is :
(A) RAM (B) Mother Board
(C) Hard Disk (D) None of the Above

99. Bluetooth is an example of :
(A) Wireless Personal Area Network (WPAN)
(B) Local Area Network (LAN)
(C) Virtual Private Network (VPN)
(D) Wide Area Network (WAN)

60. If a new device is attached to a computer, such as printer or scanner, its must be
installed before the device can be used.
(A) Buffer (B) Pager (C) Driver (D) Server

61. Verification of a login name and password is known as :
(A) Trouble shooting (B) Configuration
(C) Authentication (D) Logging Out
62. Internet explorer falls under :
(A) Operating System (B) Compiler
(C) Browser (D) IP address

63. Inanetwork, the computer that stores the files and processes the data is named as :
(A) Server v (B) Terminal
(C) Modem (D) All of the above

64.  WWW stands for :
(A) World Wide Wireless (B) World Wide Web
(C) World Wide Wares (D) World Wide Weight

65. What kind of attempts is made by individuals to obtain confidential information from a
person by falsifying their identity ?

(A) Spyware Scams (B) Phishing Scams
(C) Computer Virus (D) None of the Above

66. Whatis an e-mail ?
(A) Aninternet standard, which allow users to upload and download
(B) Transmission of files and messages through computer network
(C) A real time typed conversation

(D) An operating system

P-TI-R1-2021/A



87,

68.

69.

70.

£k

72.

73.

74.

75.

W
How can you check the look of a document before printing in MS Word ?

(A) Use Magnifier ‘ (B) Use Print Preview
(C) Use Save As (D) Shift + Delete

What is the shortcut key to “Undo” the last action in a document ?
(A) Ctrl + X ; (B) Ctrl+Y
(C) Ctrl+ Z (D) None of above

The quickest and easiest way in Word, to locate a particular word or phrase in a document is
to use the command :

(A) Replace ‘ (B) Find
(C) Lookup (D) Search

What is the purpose of headers and footers used in document :

(A) To mark the starting and ending of a page

(B) To allow page headers and footers to appear on document when it is printed.
(C) To enhance the overall appearance of the document .

(D) All of the above

Purpose of Ctrl + B shortcut key in MS — Word is :
(A) It makes the selected text bold.

(B) It deletes a line in the document.

(C) It adds a line break to the document.

(D). None of the above .

In a spreadsheet, you can activate a cell by :
(A) Pressing the Tab key : (B) Clicking the cell

(C) Pressing an arrow key (D) All of the above

In a spreadsheet, which buttbn do you click to add up a series of numbers ?
(A) The AutoSum button (B) The formula button
(C) The quicktotal button ' (D) The total button

In order to tell Excel that we are entering a formula in cell we must begin with an operator
such as : ;
(A) + (B) = ©) # (D) @

How are data organized in a spread sheet ?
(A) Lines & Spaces (B) Layers & Planes
(C) Height & Width o (D) Rows & Columns
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PART-C
~ LANGUAGE TEST (ODIA) : 50 Marks
fedaion @ V@ QIda g6eie ggq 90a Qe ale 9a FIa Q88 | AARGe ggeaeq K99 deRIEa ARy Y9 9l 96R
FRCIRgQ QAQ AR ARNQ 406 Aea He, /g |
QR GAQ A7 YaRI! QaQ Aie g¢, dal 0.5 79 6RUIT Sselsl @aldQ |

76. GORT0 QAR ANQ 6RA6 Y R9Ageq Qa4 ?
(A) Q9651 @& Y@ QIF @QCIfe ? (B) %, V@ 006! 0Ia alasa dela 3 |

(C) 2@ @ Q18 ¢ial | (D) Q166 O&IG G2 QIQ |

77. d0R Q194G QIg |

(A) 78I G6EI6E Q16 266 | (B) 78I 66886 QIQQ U6Q |
(C) A6l QI68IEIE QIR 26K | (D) A8 G688 QIS 66 |
78. GaIQl VOQ ———---——-- 69, QIQI 949 QIQl QAR |

(gagle IR d0Q QAR QI12)
(A) 8 @218 (B) QI6Q 6QIQ8R (C) g ¢ (D) Q6Q10a9!

79. ‘Y90 AA@’ Qaa g @’ 6l ?
(A) 299199 dQlg, (B) aen gl (C) 26 da (D) §18 BGe,

80. “CQdEa AR AALD Q& ” RSN @ e @ & ?

(A) 996 Qa6r Q1@ : (B) @9 296a @ OREl

(C) 9941R6Q &laG2Ia oRal (D) QIQIQ cdleg] Geca @8l
81. QaIdo” QR 8d @ & ?

(A) @8 ¢ Q8 geig Qe (B) Q0@ @ aIdg Q1Fel 6Qal

(C) @8 @ 98 Q019 QIFea MIEidal (D) ¥Q&aal 6ol

82. “Time waits for none.” Y@ Q°QI@1 QIQ4Q &&] Q81 ?
(A) @Y angq Zeasl Q60 QI | (B) Qag, Qg ale 26asl Q6a |
(C) 9916, 3] CAIRE IRl a8 K6Q | (D). 9918, 9I1QIQ B6aSI Q6a QIE |

83. ‘“2UdQ 63099 IR AR (VT QI Q0K R°ART @617
(A) Today’s meeting was postponed.
(B) The meeting scheduled today was cancelled.
(C) The meeting was cancelled today.

(D) Today the meeting was cancelled.
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34. 49 QYT QI |

; fa.
(A) 9@ Q16 49 94 aRafag | (B) €9 219 99 93909 0815a8 |
(C) 99 QI9slIER A9 @4 QI3 | (D) dQ 2leAIee 49 9Q96e aRaag |
85. @8 QN8 QI | : 3
(A) 69 HER1 626M @ AEAUN 29R | (B) 69 A9Q1 6Q6m @ Q166 2G|
(C) 64 590 6Q6R @ F16QI 26T | (D) 6d 599 caem @ A6 263 |

fo6a Galtiadiel 29680d B@ 04 86 @ 90 @ 908 AAQ §Y |

fem fBQ 92 on da @6 2IRQANIEH R 6918 KR I06R GHD MG CIAMEe 691N AR 996 @G
QIS AIARR AINNIATA Gpla 2Italdl | fgn ABR LINC, QIEIER CEIR QAILNT | V2 6OR AR @ QaLa
QOMRY 011 QEd Qg aIEl A 699 QURINN | QEIAER Y68 @8O § 900 CGIER (IR oR T QR
MY HIRQI 6OM @90 Q @0 GF AULA §a cRaA | YR dAALR AR 6 A7eda cAIeE die dIgl aadl
JIRGR 69IR COR | A6Al 98 N CRICA 6RIA 2°9Q FQ Yl 608 6OR QLI FAUARLINY YR G6nl 601R cafem dig,
980 gIfl COM YL CAINAIY | YQ QU ¥ Q6Rl 6INEA I8 MEQ 6oM €90 62IR8IN | AIRTE, 9RIALA YT 6oR
Aeq 88l @9 Q 08 caiIca 94 608 | V@ coR QI AR QcaE @8 gAgR gae Al AIF | €968 IR
$4QQIQ SIQIT COIR 6REeR GaQl GcaEn A0 G28 | daIGeR FQM FRQ CRIR AR KGEId AR | YRIQ RER
gelael’d | gael a6 AR0E FIANIRIQ AR CUCERSIE | Ong JRIREI Y9° doR GQe! dIR CAIRE G AERAI9
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